Sec 2.5

Determining domains

restrictions-
) denominator cannot equal zero
Z) even-rooted radicals cannot be negative

We will express using interval notation.









Determine the domain:
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*the numerator and denominator need parenthesis
*vertical asymptotes might be difficult to identify
*asymptotes are reflected in the table






Determine the domain:

recall- denominators cannot equal zero
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Determine the domain: Again,
'P ( 4 denominators
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3 1 zero...and we
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those here.
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Determine the domain:
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